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oS¢ aigeq 8l el gga Iale oIR8

Answer all questions serially and continuously
from Group—A and Group—B as per instructions
and any two from Group—C

@ G ¢ FRIAR AT gYR 28R Feadlgalel RAIGAER G
FROER NIPER Ye° J—RIGQ 6060169 @RE
gge aee @

Nlustrate your answers with labelled diagrams and
examples wherever necessary

2IRdie goR RIAIEE 68 N9° ARIeqd @2
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GROUP—A
f—aRe

1. Fill in the blanks selecting the appropriate
terms given under each bit : 1x5=5

UERIR  2reeR  QaidiReel  deghe FRINQ
Q9g80Q QI8 §942I8 9ad @ -

(@) The root nodules seen in  the
leguminous plants have a red pigment

callea"\
J1R1018 @@OGQ UQ@Q- STzt Fm
deesa gQl ERILY Q@G‘Q QLI

() hemoglobin
Palla

() leghemoglobin
SMORsIEQIGR

(i) phycocyanin
TSR

(iv) chromoplast
eRISFIYIN
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(b) Decomposers are generally
JORSRAIET AUREGS 23|
(i) green plants
A9 RO
(i) phytoplanktons
TIREQIJIR SR
(iii) insects
dowl
(iy) microorganisms

Q14

(¢) In curd making, is useful in
coagulation of milk protein.
Q% ggoee, giee 9IaAag e
QIRQIEQ AIRIAY *ReIN |
fi) Penicillium
6OPAMAL
(ij) Lactobacillus
aIERIPIANY
(iii) Saccharomyces
QIRIERANNREA]
(iv) Aspergillus
ZIQaaEag
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(d) Kranz anatomy is seen in plants.

(e)

QI AFOR __ afiesa somiigelg |
() CAM
QIR
(i) submerged
&g
(iii) C,
fv) Cy4
A degenerative process  when

functional activities of an organism
slow down is called o g

@ 919 aRe  Qduedl  paq
Sriatalallatal RGeS  gRAIP
QRIGN |

(i} seismonasty
@8R

(i) nutation
AVIORE
(tii) abscission
Bl

(v} senescence
ol
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2. Correct the statements of each bit, if
necessary, by changing the underlined
word only : 1x4=4

2QND 6P, JEUR 2R CRHIRE 9IR QAR
QB 6N AN :

(a) An unorganized mass of cells formed
during tissue culture is called explant.

6441 6QIVE AANER YT 62RR AA°G0Q
6QISARLY IS FRIAN|

(b) In C, plants, the first stable product
of carbon dioxide fixation in mesophyil

cells is 3-PGA.

C, 2096x 9d¥ 20Q 6QTIYB 6RTER
ATIORIY QQRea gad da Qe
3-4.8.4. 26¢'1

(c) Griffith coined the term ‘gene’ for
Mendelian factor.
gel 6a6aRIa Q9! AR §OF d° @Y’
GIOR *RUER |

(d) When sucrose is dissolved in water, its
water potential decreases.
IR FRER ARING 626, ¥R FRF 613
I aig|

S R TR —
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GROUP—B
¢—aRU
3. Write notes on any four of the following,
each with 2 to 3 important points : 2x4=8
Jeoiea 9% @ MG e g8 @dix FoRde
CRIQ 6U6TIETA QIERTR TSN 6REt
(a) Viviparous germination

TRG AFAS

(b) Micropropagation
g °9gIRQ

(¢) Law of segregation

YANRQE G

(d) Split genes
2RAN0 FF

(e) Ecosystem
latefal

(f) Biofertilizers
aialial
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(g) Alcoholic fermentation

AR ¢e

(h) Hybridization
ASQAE!

4. Differentiate between any two pairs of the
following, each with 2 to 3 important
points : 3x2=6

geoies 98 @ MG A8 g9 QIR FgRde
RNQ 6U6RIE] @R 6Pl RIS JERE
QENT -
(@) Cybrid and Hybrid

ARIQ IS° CRQQ

(b) Parasite and Saprophyte
do@1a1 9Q° (160IdR1RT

kﬁ:),,Phototro'pism and Geotropism
ZIEAIRNIPRRE 1&° UIGIRR

-

(d) Micronutrients and Macronutrients

qg 69199 ¥° g% 6AI8R
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GROUP—C
o—aaugl
Answer any two of the following : 6x2=12
AORTe N 66T YRR AR G

5. Discuss the transpirational pull and
cohesion-tension theory of ascent of sap.

QUERAIZIR R6YRR ZIRTE I LA-0IF 6]
2IERIeR R

6. Give an account of the physiological effects
of auxins in plants.

RE96q 2R TR gAY AR 9L
QR8N Q2|

] Describe transcription in prokaryotic
organisms.

JIR-NIRIE FIRFIRSER AFERIR QLR KA

52 ‘Describe the reaction steps of Krebs cycle.
629Q 989 JoR 6AAURYFR L el

%* ¥k &k
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